(#%=2)

sam - = . .
= RET ME-BEFREREERHE SH4EEESRERE
HEFE MRARF SMSEIAXREA
(FMH)
i | EE MITER =
it | B | B | #4 EXN " = | g RITEEE
No|  BEES sxe | PR\ s | | | gn | e | B |mm| THE | EEER ) (ROED) @ FROEBRR E
WA | Eik —— | BE| BXE (%) | A(E%) | EERY
K| Mg | =T = #im 28) %)
25 0
26 0
27 0
28 6,808 6,215 593 |28 4
29 6,601 4,838 1,763 |29%4 A
2| || -|s]-|1]- %gggzﬁ ERAET | B |ERe| Ei | f |aee| 36552 | 28] ~|Ra[ 30 5380 4991 389 |30%4 5
Ri 5,462 4,913 549 |31%4 A
R2 4271 2,708 1,563 |R2ZE4E
R 4,100 3,317 783 |R3%E4A
R4 3,930 2,014 1,916 |RaZ4 7
A5t| 36,552 0 28,996 7,556
25 0
26 0
27 0
28 5,754 4,939 815 |28%F4 A B
BAREE 29 3,955 3,727 228 |29 4
3| |@|—|2s|—|2|—| |E-REEH | ERET | B |ERET| B | #6252 26628 [ 28| ~|R4[ 30 3,837 2,892 945 |304E4 A
ERXEEE R1 4,021 4,035 -14 |31%48
R2 4,362 3,857 505 |R2ZE4F 5
R 4,118 3,306 812 |R3%E4A B, RIFCAEBRT
R4 581 548 33 |RaETH
A5t| 26,628 0 23.304 3,324
25 0
26 0
27 0
28 1,134 831 303 |20 1 HERRE
EERFHEM 29 0
4l |@—|s|-|3|-| [HE=4y> |ERHKR| B |ER6r| B | 27 (g5 1,134 | 28| ~| 28] 30 0
THRE Ri 0
R2 0
R3 0
“Ra4 0
25 1,134 0 831 303
25 0
26 0
27 0
28 0
29 0
-l 1= |- ~ 30 0
Ri 0
R2 0
R3 0
R4 0
& 0 0 0 0
63 25 0 0 0 0
1 TEEES TERE RS BRI AEAI SRR B/ 2B EE 2B 26 0 0 0 0
BRI, RERRERBRHEORBICEOE TRALTHIZED, 27 0 0 0 0
2 TR/ T IMBISIE, 845, R T LDV T RAERAL T, 28 0 0 0 0
3 TRE/HER HICIE, B BEEOLTANERAL TS, 558 KEE [ 29 [1) 0 0 0
5 3448 (EE) JICIE. BEC M Eh AR AR AR B ERERHEOEERCRAL TS, =4 BIeE [[30 0 0 0 0
4 THATTEE (RAMED B 25 28) 11113, B2 OMBETIAC, RVWMEOERBLHEERAL TGS Ri 0 0 0 0
W35, BRELN L, BXERICERERLRLCHEHELETHEVEEA, R2 0 0 0 0
5 TEZOEW KRR ML, BLOBIE. T ENONBESMRITRBL TGN, 15, EEERFILT R3 0 0 0 0
RUTIVERBYEL A, R4 0 0 0 0
6 HTEE (EEHM L) M. BBHE B (ER) + SEMAME @R — 978 EHEOEHER EXHS = 0 0 0 0
L38)) ShET, 25 0 0 0 0
26 0 0 0 0
27 0 0 0 0
- 28 13,696 0 11,985 1711
’B*TET £EE |29 10,556 0 8,565 1,991
ity BR[| 30 9.217 0 7,883 1,334
Ri 9,483 0 8,948 535
R2 8,633 0 6,565 2,068
R3 8,218 0 6,623 1,595
R4 4511 0 561 50
LSRR 64314 0 53 130 11,184
- RN X D&l 64314 0 53 130 11,184




